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4. (a) 1738 Body Effect? (b) 73§ Early Effect? (10%)
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8. T ERAEAMIFTMILSE (negative impedance converter, NIC) » # i R, =? (5%)
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9.  Explain the gain margin and phase margin of an amplifier by using Bode plots for AB. (10%)

10. A Wien-Bridge oscillator is shown as following figure, which consists of an OP. amplifier connected in
the non-inverting with a closed-loopgain of (1+Ry/R,) configuration. In the feed back path of the of the

positive-gain amplifier an RC network is connected. Find
(1+R,/R))

3+ j(wRC - 1/wRC)
(2) the frequency w of Wien-Bridge the oscillator (5%)
(3) the condition of sustained oscillation at frequencyw (5%)

(5%)

(1) the loop gain of the oscillator is A(jw)=

R,
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